inisl= FLI_] = (@2 (i -mb) +al (mF-1)) / (mF-mb) Sin [xu (i -mb) / (mF-mb)] +
(X2 (1 -mb) +x1 (mF-1)) / (mF-mb)

inel= FLJ]
- - - (J-mb) mu

(-j+mF) x1+ (j-mb) x2 (82 (J-mb) +al (-j+mf)) S'n[ mbamf ]
out[18]= +
el -mb + mF -mb + mF
in[19:= 8y FLU]

(i -mb) (a2 (i -mb) +al (-i+mF)) xCos[ LI 7Y]
out[19]=

(-mb + mf)2

In20):= Oa1 F[I]

(-1 +mf) Sin[ (LI 7]
Out[20]=

-mb + mF
In21):= Oaz FLT]
- - (i-mb) mu

(i-mb) Sin[ 2220 ]

out[21]=
-mb + mf

in22]:= 8x1 T[]

-i+mfF
out22)r ————

-mb + mf
in[23:= Ox2 T[]

i-mb

Out[23] —————

-mb + mF

i - mndx

-mndx + mndxp
inal= T[]

(—i+mf) x1+ (i -mb) x2 (82 (i-mb) +al (- +mf)) Sin| (i_}]mlali)m:u]
out[24]= +
izl -mb + mf -mb + mf
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